PLANETARY GEAR BOX

ZB/ZEZ %
=ia BT ER0EN

< MATIE



< MATIE

AN N

"IN

F R LG L M eEILT

5; / Em&;ed%e wfinite £ e i - f(bl't",_,_/' ”

TIRP AN EERENRDBIRATIACIT1998F | B—REWHNEENIK, HUFEN. BERETAHI
aRtl, NEWERTE00A , BER2(Z7T , GHPEFRL00E ( HHHuiE50H ) .

ARARERRETFRAL , IEREWHEFL  KEREFSIN , S5FIEERIN , 1THR3IT ; HHLA
FERERNHIEERIA , 7810 ;  KETTRIENTEERRIENE" FINEZRXIETL , “VRSF-78VR20-
200{7EmERR" FINERERF MY , SKPERER "ERERFHT-mIER" .

Ningbo Zhongda Leader Intelligent Transmission Co., Ltd. is a sino-foreign joint venture. specialized in micro motors, motor

drivers and precision gear reducers. We have 800 employees, with two hundred million RMB of fixed assets and area of 66666m’ (half
in Hangzhou Wan).

We, ZD-MOTOR, is a national hi-tech enterprise, and provincial R&D center of Zhejiang, we own 81 national patents, we
participated in drafting 4 national standard, 3 industry standards. As major party to draft 1 national and 1 industry standard. “gear
reduced permanent brushless motor institution” is listed in National Torch Plan, “VRSF-78VR20-200 planetary gear reducer” is listed in
national new major product plan, and gain the certification of “National New Major product” issued by China's Ministry of Science &
Technology.



ZBERFURLE
/B SERIES GEAR BOX

M iR E Sectional Drawing

@ it Output shaft

@ jHEd Oil seal

@ HiH4HAETiHA Output shaft front bearing
@ 1TE%L Planetary gear

® ABEE Solar wheel

® i#EHHE Full needle bearing

@ Bz Front cover

1AM/ 4M7& Output shaft rear bearing
® i Oil seal

® BX$AES Coupling

@ IR Lock ring

®© J5= Rear cover

B E55S . YEEHRIRIEAB Type And Model Number

ZBIEEH]|, ZB Reducers ‘ {ZAREEHN Servo Motor

090 ZB 20 () (S1) - 750 T1 [
©» @ ©® @ © ® @ ®

P03

@  RIENAEES: 090 E{AIIP04 Gear head frame size: 090, (P04)
@ ENRFIRS: 8 Gear head series code: ZB
@ RbEEL: 20 B{RITIP04 Gear ratio: Single stage 20, (P04)
@ ¥EE BfkIPos Amount of backlash, (P04)
TERIP2(EER) FBEEP SREEEIP0 Standard type P2 (Omission), precision P1, high precision PO
TR AR HHER + 5% A E Precision (The load of output shaft is +5% of allowable output torque)
® NGRS Input shaft type
S1: EM SRR (EE) S1: Locking with locking ring (Omission)
(DA REEEESER | (B D FERNER) (Regardless whether the motor with keyway can use it. But “D” cut can'tuse)
S2: TSR E (M NI 52) S2: Locking with keyway (Input shaft with key)
A: EfhiEERS (B S A A TKER) A: Other type (Please contact with us)
©® ERFERDIXIIERW) Applicable servo motor power (W)
@ (EREARKEFR(P11~P12) Manufacturer name of servo motor (P11~P12)
® (ARDIAES Model of servo motor




LG
PRODUCT SPECIFICATIONS

I RGN 8% Reducer Performance Data

& RE VERELnd
Specifications Node Number | Redustion Ratio | 080ZB | 0B0(A)ZB | 090ZB | 090(A)ZB | 11528 14278 180ZB 220ZB
3 55 = 130 - 208 342 588 1140
50 - 140 - 290 542 1050 1700
5 60 - 160 = 330 650 1200 2000
: 6 55 - 150 - 310 600 1100 1900
7 50 - 140 - 300 550 1100 1800
8 45 - 120 - 260 500 1000 1600
9 40 = 100 5 230 450 900 1500
10 40 - 100 - 230 450 900 1500
15 55 55 130 130 208 342 588 1140
20 50 50 140 140 290 542 1050 1700
BERHIE T, Nm 25 60 60 160 160 330 650 1200 2000
30 55 55 150 150 310 600 1100 1900
35 50 50 140 140 300 550 1100 1800
40 45 45 120 120 260 500 1000 1600
2 45 40 40 100 100 230 450 900 1500
50 60 60 160 160 330 650 1200 2000
60 55 55 150 150 310 600 1100 1900
70 50 50 140 140 300 550 1100 1800
80 45 45 120 120 260 500 1000 1600
90 40 40 100 100 230 450 900 1500
100 40 40 100 100 230 450 900 1500
2EmEET,, Nm 1,2 3~100 fEEERIH R
BN R N, rpm 1,2 3~100 5000 5000 4000 4000 4000 3000 3000 2000
BAINESE N, rpm 1,2 3~100 10000 10000 8000 8000 8000 6000 6000 4000
P ) 1 3~10 - - 5 - <1 <1 <1 <1
BIBEERIBE PO | arcmin 2 15~100 - - - - <3 <3 <3 <3
A ) 1 3~10 <3 - <3 - <3 <3 <3 <3
FEEERIEE P1 aremin 2 15~100 - <5 <5 <5 <5 <5 <5 <5
SRR P, | aomi ; T - < )
HEERIME Nm/arcmin 1,2 3~100 7 7 14 14 25 50 145 225
BHREA F N 1,2 3~100 1530 1530 3250 3250 6700 9400 14500 50000
YA F,y N 1,2 3~100 765 765 1625 1625 3350 4700 7250 25000
ERE® hr 1,2 3~100 20000*
. o 1 3~10 297%
BEn * 2 15~100 ‘ ‘ ‘ 29‘4% ‘ ‘ ‘
— = 1 3~10 1.3 = 3.7 5 7.8 145 29 48
P04 B ko 2 15~100 15 | 19 | 41 | 53 [ 9 | 175 | 33 | 60
FFRRE °C 1,2 3~100 -10°C~+90°C
s 1,2 3~100 ERkiEE RS
PP 1,2 3~100 P65
B Il 1.2 3~100 F=A0
e
fﬁfjﬁ%ﬁ)ﬁ”%ﬁﬁ )| 9B 1,2 3~100 <58 ‘ <60 ‘ <60 ‘ <63 ‘ <63 ‘ <65 ‘ <67 ‘ <70

B RENEETN IR E Moment Of Inertia Of The Reducer

Htg RE VERE A d
Specifications Node Number | Reduction Ratio | °80ZB | 0B0(A)ZB | 090ZB | 090(A)ZB | 11528 142ZB 180ZB 2207B
3 0.16 - 0.61 = 3.25 9.21 28.98 69.61
4 0.14 - 0.48 - 2.74 7.54 23.67 54.37
5 0.13 - 0.47 = 2.71 7.42 23.29 53.27
: 6 0.13 - 0.45 - 2.65 7.25 22.75 51.72
7 0.13 = 0.45 = 2.62 7.14 22.48 50.97
8 0.13 - 0.44 - 2.58 7.07 22.59 50.84
9 0.13 = 0.44 = 251 7.04 22.53 50.63
10 0.13 - 0.44 - 2.57 7.03 2251 50.56
15 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
20 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
BRE J, Kg-cm’ 25 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
30 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
35 0.03 0.13 0.13 0.47 0.47 2.1 7.42 23.29
40 0.03 0.13 0.13 0.47 0.47 2.71 7.42 23.29
2 45 0.03 0.13 0.13 0.47 0.47 2.1 7.42 23.29
50 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51
60 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51
70 0.03 0.13 0.13 0.44 0.44 257 7.03 22.51
80 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51
90 0.03 0.13 0.13 0.44 0.44 257 7.03 22.51
100 0.03 0.13 0.13 0.44 0.44 2.57 7.03 22.51
TR (i=N,/N,,) 2. B AR NIERIIEET,;=60% of T,0r 3RS 00rpmAT , ERTFH P OMIE.

MELHEE, |, (% /910000hrs



R (8848, RiELL i=3~10)
DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=3~10)

I R <FE& Dimensional Drawing

& Output 9 I Input
c8 L8 L2
Lt c7
om6 B u B

) H— — L4
& B L

gl 8 2|5

n o™ o™ (S

sl & 55
g

c6 I
c4
2
S D5)%(depth)L9
i
H1
Il R <J % Dimensional Table [ ZUnit: mm]
Rtsize 0608 090ZB 11528 14228 18028 22028

D1 70 100 130 165 215 250
D2 5.5 6.6 9 1" 13 17
D3 16 2 32 40 55 75
D4 50 80 110 130 160 180
D5 M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 80 116 152 185 240 202
L1 60 90 115 142 180 220
L2 37 48 65 97 105 138
L3 7 10 12 15 20 30
L4 28 355 51 79 82 105
L5 25 32 40 70 70 90
L6 2 2 5 4 6 7
L7 6 8 10 15 20 25
L8 65.5 78 1015 1195 154 163.5
L9 125 19 28 36 ) 2
c1 70 100 130 165 215 235
C2 M5x0.8P M6x1P M8x1.25P M10x1.5P M12x1.75P M12x1.75P
c3 *<14/<16 <19/<24 <32 <35/<38 <42/<48 <55
c4 35 405 51 60 85 116
C5 e 50 80 110 130 180 200
c6 8 4 5 6 6 6
7 60 90 115 142 190 220
c8 19.5 175 20 225 29 63
co 122 1435 186.5 239 288 364.5
Bl 5 6 10 12 16 20
H1 18 245 35 e 59 795

*060ZB 5,10 jHIRELIRHCI< 167 1%,

P05



R (7%, miELL i=15~100)
DIMENSIONS (DOUBLR, REDUCTION RATIO i=15~100)

B R <FE& Dimensional Drawing
co

i Output o s 02 BN Input
Lt . 13
0c7
L4
—— i L5 L6 —— o
28 H )
88 56 Q
| [ | : s
cé H 4-C2 o1
c4 !
co 060AZB/090AZB
C8 L8 L2
13 miG
% D53 (depth)L9 i (T o, X\ -
% RN ‘ lﬁ ) @
H1 ger M 8|5 Q
[©
| 1 0 ‘s) /8
H= ' Tz ot
Il R <J % Dimensional Table [ ZUnit: mm]
R<ISize 060AZB 09078 090AZB 11528 14278 18028 22028
D1 70 100 130 165 215 250
D2 5.5 6.6 9 1 13 17
D3 16 2 32 40 55 75
D4« 50 80 110 130 160 180
D5 M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
T D6 80 116 152 185 240 292
L1 60 90 115 142 180 220
L2 37 48 65 97 105 138
L3 7 10 12 15 20 30
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 3 5 4 6 7
L7 6 8 10 15 20 25
L8 102.5 116 126 143 160.5 207.5 246
L9 125 19 28 36 ) )
c1 70 70 100 100 130 165 215
c2 M5 x0.8P M5x0.8P M6 x 1P M6x 1P M8x1.25P M10x1.5P M12x1.75P
c3 <14/<16 <14/<15.875/<16 <19/<24 <19/<24 <32 <35/<38 <42/<48
ca 35 35 405 40 50 60 85
C5 e 50 50 80 80 110 130 180
C6 8 8 4 4 5 6 6
c7 60 60 90 90 115 142 190
c8 195 19.5 17.5 175 125 225 29
c9 159 183.5 191.5 225.5 283.5 335 409
Bl 5 6 10 12 16 20
H1 18 245 35 43 59 795




ZBREFUREN -7 milts

/BR SERIES GEAR BOX - PRODUCT SPECIFICATIONS

M iR E Sectional Drawing

B REMN T EEEEL Reducer Performance Data

& RE VERELnd
Specifications Node Number Reduction Ratio 0BUZBR 0302BR et 1427BR 180ZBR
3 36 90 195 342 588
4 48 120 260 520 1040
5 60 150 325 650 1200
6 55 150 310 600 1100
~ 7 50 140 300 550 1100
IR Ty Nm ! 8 45 120 260 500 1000 —
9 40 100 230 450 900 P07
10 40 100 230 450 900
14 42 140 300 550 1100
20 40 100 230 450 900
S T Nm 1 3~200 AR E AR
EUES\ERE n,, rpm 1 3~200 5000 4000 4000 3000 3000
ERARENELE n,, rpm 1 3~200 10000 8000 8000 6000 6000
RS PO arcmin 1 3~20 - <2 <2 <2 <2
e P1 arcmin 1 3~20 <4 <4 <4 <4 <4
S B P2 arcmin 1 3~20 <6 <6 <6 <6 <6
HEENIME Nm/arcmin 1 3~200 1 14 25 50 145
BFRAS Fr N 1 3~200 1530 3250 6700 9400 14500
AT Fyy, N 1 3~200 630 1300 3000 4000 6200
VAT N 1 3~200 765 1625 3350 4700 7250
FEREm hr 1 3~200 20000*
BE N % 1 3~20 >95%
=8 Kg 1 3~20 2.1 6.4 \ 13 \ 245 51
FRRE °C 1 3~200 -10°C~+90°C
s 1 3~200 B pkiiiaHiE
FHIPEER 1 3~200 IP65
;?%Hrﬁ] _ 1 3~200 F=AE
(”ffﬁofff%“ﬁﬁ ) dB(A) 1 3~200 <63 <65 ‘ <68 ‘ <70 <72
B FENEETH B E Moment Of Inertia Of The Reducer
& RE VERELnd
Specifications Node Number Reduction Ratio 06028k 0302BR 1152BR 142ZBR 180ZBR
3~10 0.35 2.25 6.84 234 68.9
HIIEE J, Kg-cm? 1 14 0.07 1.87 6.25 21.8 65.6
20 0.07 1.87 6.25 21.8 65.6

TR (=N, /N,,)

*ELENEE |, % T/910000hrs

2. B K INIESIFET,,=60% of T,

3imEEHnorpmAY , (EATFRLEPOME.



P08

‘ ﬁ&%ﬁé},m&th i=3~20)
NS (SINGLE SEGMENT, REDUCTION RATIO i=3~20)

B R <TE& Dimensional Drawing

Il R <% Dimensional Table

[EA{SZUnit: mm]

RS
ize 060ZBR
= 090ZBR
o - = 115ZBR 142ZBR
D 0 T > e 180ZBR
D3 [ 16 2.2 g T 5
4 4 50 & -
D5 r -
e 110 =
: - 130
M5x0.8P . .
> M8x1.25P s
- M12x1.75P .
L1 = M16x2P
“ = M20x2.5P
g - 185
z = 240
e - 142
: : - 65 97 o
: 1.5 1.5 ; : 0
5 25 . . :
L6 = :
‘ : . 40 63 :
L8 6 . 5 5 70
= 145 203 . = 6
: I = 259 333 .
0 12.5 ; . -
c1 o :
70 & -
o 100 -
M5 x0.8P 130 x
= M6x 1P =
<14/<16 o i
; o M10x1.5P
z . M12x1.75P
C5' e o F
= 50 80 . = u
: 110 o
o . 130
: . 180
cs' = :
o o = 115 142 :
111.5 o u
o 152.5 .
: - - 191.5 235.5 =
H1 hs 5 6 g . 15. 303.5
| : = 20.75
24.5 "
. 16
43
59

070ZBR 5,10 R LLIRHLC3I< 16T 1L



ZEZRFUiRLE
ZE SERIES GEAR BOX

M 23R E Sectional Drawing

BRIS. NERR

1588 Type And Model Number

@ %4 Output shaft
@ HEd Oil seal
® W 4MBTIHA Output shaft front bearing
@ 17248 Planetary gear
® APFEES Solar wheel
® iS4 Full needle bearing
@ B Front cover
® %S Output shaft rear bearing
@© jHET Oil seal
@ EBX4HES Coupling
@ BUEIR Lock ring
@ 3% Rear cover

ZE#ER, ZE Reducers

{FIAREBH, Servo Motor

090 ZE 20 () (S1)
@@@@@

- 750 T ]
® @ ®

RIERHAIEES: 090 E{RIIP08

Gear head frame size: 090, (P08)

@ HENFETINS: ZE

Gear head series code: ZE

@ EbEEL: 20 BYRIIPOS

Gear Ratio: Single Stage 20, (P08)

@ ¥5E BE{kIPos
TVERIP2(EE) FEEELP SREEELPO
MR R A HIHER) £ 5%rIHIE

Amount of backlash, (P08)
Standard type P2 (Omission), precision P1, high precision PO
Precision (The load of output shaft is £5% of allowable output torque)

®  NHEE
S1: R (B
(FRICDARRERIEEER , B0 FEAER)
S2: TRRE B R (M)
A: EftERCRR (B S A A TR

Input shaft type
S1: Locking with locking ring (Omission)
(Regardless whether the motor with keyway can use it. But “D” cut can't use)
S2: Locking with keyway (Input shaft with key)
A: Other type (Please contact with us)

EFRAARIATIZE(W)

Applicable servo motor power (W)

ARREIE] ZREFR(P11~P12)

Manufacturer name of servo motor (P11~P12)

® 8@

ARDIAES

Model of servo motor




GGG
PRODUCT SPECIFICATIONS

B REMN T EEEEL Reducer Performance Data

& RE VEREnd
Specifications Node Number Reduction Ratio e vz (225 I e 2l
3 55 130 208 342 588 1140
50 140 290 542 1050 1700
5 60 160 330 650 1200 2000
1 6 55 150 310 600 1100 1900
7 50 140 300 550 1100 1800
8 45 120 260 500 1000 1600
9 40 100 230 450 900 1500
10 40 100 230 450 900 1500
15 55 130 208 342 588 1140
20 50 140 290 542 1050 1700
BERHFE T, Nm 25 60 160 330 650 1200 2000
30 55 150 310 600 1100 1900
35 50 140 300 550 1100 1800
40 45 120 260 500 1000 1600
2 45 40 100 230 450 900 1500
50 60 160 330 650 1200 2000
60 55 150 310 600 1100 1900
70 50 140 300 550 1100 1800
80 45 120 260 500 1000 1600
90 40 100 230 450 900 1500
100 40 100 230 450 900 1500
2SR T Nm 1,2 3~100 fEEERIE R
BUEBNFLE n,, rpm 1,2 3~100 5000 4000 4000 3000 3000 3000
BABINEG®E N, rpm 1,2 3~100 10000 8000 8000 6000 6000 4000
. o ) 1 3~10 <8 <8 <8 <8 <8 <8
RS aremin 2 15~100 <12 <12 <12 <12 <12 <12
REERIME Nmy/arcmin 1,2 3~100 7 14 25 50 145 225
SERAEAF,, N 1,2 3~100 1377 2985 6100 8460 13050 8700
A Fy, N 1,2 3~100 765 1625 3350 4700 7250 18000
(EdisbegT) hr 1,2 3~100 20000*
sz N 1 3~10 >97%
S % 2 15~100 >94%
== K 1 3~10 14 [ 33 [ 69 | 13 [ 31 [ 53
= g 2 15~100 16 | 41 | 81 | 17 | 3 | 66
FRRE °C 1,2 3~100 -10°C~+90°C
HEh) 1,2 3~100 ERkiEEHEE
FHIPEER 1,2 3~100 IP65 —
M 1,2 3~100 FEAME P11
2=z, B
?i‘“ffﬁoffﬁ%zﬁ ) dB(A) 1,2 3~100 <58 ‘ <60 ‘ <63 ‘ <65 ‘ <67 ‘ <70
W RENEETN IR & Moment Of Inertia Of The Reducer
& RE VERELnd
Specifications Node Number Reduction Ratio iz vz A sz e e
3 0.16 0.61 3.25 9.21 28.98 69.61
0.14 0.48 2.74 7.54 23.67 54.37
5 0.13 0.47 2.71 7.42 23.29 53.27
1 6 0.13 0.45 2.65 7.25 22.75 51.72
7 0.13 0.45 2.62 7.14 22.48 50.97
8 0.13 0.44 2.58 7.07 22.59 50.84
9 0.13 0.44 257 7.04 2253 50.63
10 0.13 0.44 2.57 7.03 2251 50.56
15 0.03 0.13 0.47 2.71 7.42 23.29
20 0.03 0.13 0.47 2.71 7.42 23.29
HiRE J, Kg-cm’ 25 0.03 0.13 0.47 2.71 7.42 23.29
30 0.03 0.13 0.47 2.71 7.42 23.29
35 0.03 0.13 0.47 2.71 7.42 23.29
40 0.03 0.13 0.47 2.71 7.42 23.29
2 45 0.03 0.13 0.47 2.71 7.42 23.29
50 0.03 0.13 0.44 2.57 7.03 2251
60 0.03 0.13 0.44 257 7.03 2251
70 0.03 0.13 0.44 2.57 7.03 2251
80 0.03 0.13 0.44 257 7.03 2251
90 0.03 0.13 0.44 2.57 7.03 22.51
100 0.03 0.13 0.44 257 7.03 2251
TIRGEREL(i=N,/N,,) 2. AR INESIFET,.=60% of Ty, 3R 00rpmAT , {ERF R iR ORE,

MELIEE |, R 7910000hrs



P12

R~ (2248, mhiELL i=3~10)

DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=3~10)

B R <FE& Dimensional Drawing

g Output

BN Input

co
L8 L2
D235(depth)L7 L1 L3
L4
5 L6
sls ‘ Tere o o
e HH—He= lsl5558
S| 18
ce
ca
%‘J -
= D53 (depth)L9
JE
}
H1
Il R <% Dimensional Table [ {&2Unit: mm]
R<TSize 070ZE 090ZE 120ZE 155ZE 2052E 2352E
D1 62 80 108 140 184 210
D2 M5x0.8P M6x1P M8x1.25P M10x1.5P M12x1.75P M16x2P
D31 16 2 32 40 55 75
D4 52 68 90 120 160 180
D5 M5x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 70 104 130 162 205 260
07 70 90 120 155 205 235
L1 ; 315 36 50 . 70
L2 36 46 70 97 100 126
13 6 8 17 15 15 18
L4 28 36 51 79 82 105
L5 25 32 40 70 70 90
L6 2 3 5 4 6 7
] 10 12 16 20 2 28
L8 66.5 80 96.5 1195 154 1755
L9 12.5 19 28 36 42 42
cl 70 100 130 165 215 235
c2 M5x0.8P MBx1P M8 x1.25P M10x1.5P M12x1.75P M12x1.75P
c3 “<14/<16 <19/<24 <32 <35/<38 <42/<48 <55
c4 35 405 51 60 85 116
Che 50 80 110 130 180 200
C6 8 4 5 6 6 6
c7 60 90 115 142 190 220
cs 195 175 20 225 29 63
co 17 1435 186.5 239 288 3645
Bl 5 6 10 12 16 20
H1 18 245 35 43 59 79.5

*070ZE 5,10 HERLLIRHLC3 <1603,



R~ (F %, /&Lt i=15~100)
DIMENSIONS (DOUBLR, REDUCTION RATIO i=15~100)

B R <FE& Dimensional Drawing

i Output BN Input
c9
c8 L8 L2
L1 L3
0c7
- — :
5 e o
28 LR D
88" | SRS &% /
&
— ~
c6 4.2 oC1
ca
(=]
5 D53(depth)L9
i
H1
Il R <F % Dimensional Table [ {2Unit: mm]
R<fSize 090ZE 120ZE 155ZE 205ZE 2357E
D1 80 108 140 184 210
D2 M6 x 1P M8x1.25P M10x1.5P M12x1.75P M16x2P
D31 22 32 40 55 75
D4 s 68 90 120 160 180
D5 M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D6 104 130 162 205 260 T
D7 90 120 155 205 235
L1 315 36 50 - 70
L2 46 70 97 100 126
L3 8 17 15 15 18
L4 36 51 79 82 105
L5 32 40 63 70 90
L6 3 5 5 6 7
L7 12 16 20 2 28
L8 118 138 169.5 207.5 246
L9 19 28 36 42 42
c1 70 100 130 165 215
c2 M5 x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P
c3 <14/<15.875/<16 <19/<24 <32 <35/<38 <42/<48
c4 35 405 50 60 85
C56 50 80 110 130 180
c6 8 4 5 6 6
c7 60 90 115 142 190
c8 195 175 125 225 29
c9 1835 2255 283.5 335 409
Bl 6 10 12 16 20
H1 245 35 43 59 795




HD R 50 iRiE -7 m S
HD SERIES GEAR BOX - PRODUCT SPECIFICATIONS

B REEMN T EEEEL Reducer Performance Data

g RE VERELnd
Specifications Node Number Reduction Ratio i e Ari AL Az
4 48 130 270 560 1100
. 5 60 160 330 650 1200
7 50 140 300 550 1100
10 40 100 230 450 900
20 48 130 270 560 1100
25 60 160 330 650 1200
35 50 140 300 550 1100
e 40 48 130 270 560 1100
IR T, Al 50 60 160 330 650 1200
) 70 50 140 300 550 1100
100 40 100 230 450 900
16 48 130 270 560 1100
21 60 160 330 650 1200
31 50 140 300 550 1100
61 50 140 300 550 1100
91 40 100 230 450 900
S T, Nm 1,2 3~100 MEEERH SE
BN n,, rpm 1,2 3~100 5000 4000 4000 3000 3000
BRANGEE N, pm 1.2 3~100 10000 8000 8000 6000 6000
IBREZEFERSE PO | arcmin ; 12::30 = 5_1 i; 2; j;
I . 1 3~10 <3 <3 <3 <3 <3
FREERISE P arcmin 2 15~100 <5 <5 <5 <5 <5
T I s e = : : : :
HEENIME Nm/arcmin 1.2 3~100 13 31 82 151 440
BASHIFIE My’ Nm 1,2 3~100 125 235 430 1300 3064
AL F N 12 3~100 1050 2850 2990 10590 16660
FRSD hr 1,2 3~100 20000*
st o 1 3~10 >97%
BEN & 2 15-100 >94%
1 3~10 1.2 3.0 5.6 11.9 31.6
BHE Kg 9 15~100 1.6 3.7 1.3 15.9 36.9
15~100 1.4 35 6.5 15.5 345
FRRE °C 12 3~100 -10°C~+90°C
HEhz) 1,2 3~100 EkiEiEHAE (NYOGEL 792D)
PR 1,2 3~100 IP65
M 1,2 3~100 [ES=ValL
2=z, =g
("ffgoaogiﬁ‘%ﬁﬁ ) OB 12 3~100 <58 <60 <63 <65 <67
W RENLESTNIE = Moment Of Inertia Of The Reducer
g RE VERELA
Specifications Node Number Reduction Ratio LR Al e BRI 22D
4 0.14 051 2.87 7.54 25.03
: 5 0.13 0.47 2.71 7.42 23.29
7 0.13 0.45 2.62 7.14 22.48
10 0.13 0.44 257 7.03 2251
20 0.03 0.13 0.47 2.71 7.42
25 0.03 0.13 0.47 2.71 7.42
35 0.03 0.13 0.47 2.71 7.42
i me 2 40 0.03 0.13 0.44 2.57 7.03
FEENMRE J, Kgom 50 0.03 0.13 0.4 257 7.03
2 70 0.03 0.13 0.44 2.57 7.03
100 0.03 0.13 0.44 257 7.03
16 0.03 0.13 0.47 2.71 7.42
21 0.03 0.13 0.47 2.1 7.42
31 0.03 0.13 0.44 2.57 7.03
61 0.03 0.13 0.44 2.57 7.03
91 0.03 0.13 0.44 2.57 7.03
TIRREL (=N /N,,) 2. B A NNESIFET,,=60% of T,y0r 3R 00rpmEY , (EAFHBPOAE.

*ELIEY: , (FR%4p/910000hrs



R (824, /iEEL i=4~10)
DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=4~10)

B R <FE& Dimensional Drawing

B R~F % Dimensional Table

[EA{3Unit: mm]

R~ Size HDO064 HD090 HD110 HD140 HD200
D1w 20 315 40 50 80
D2 315 50 63 80 125
D3 40 63 80 100 160
D4 w 64 90 110 140 200
D5 79 109 135 168 233
D6 7xM5x0.8P 7xM6x1P 11xM6x1P 11xM8x1.25P 11xM10x1.5P
D7 86 118 145 179 247
D8 w 5 6 6 8 10
D9 55 11 90 13 138
D10 8x4.5 8x5.5 8x5.5 12x6.6 12x9
D11 w 70 95 120 152 212
D12 63.2 89.2 109.2 139.2 199.2
L1 8 12 12 12 16
L2 8 13.5 13.5 17 225
L3 3 6 6 9 8
L4 19.5 30 29 38 50
L5 7 10 10 14.6 15
L6 4 7 8 10 12
L7 1.1 8 10 12 15
L8 285 27 37 62 69.5
L9 6 7 1 7 10
L10 0.5 1 1 1 1
c1* 70 100 130 165 215
c2 M5x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P
c3* *<14/<16 <19/<24 <32 <38 <48
c4 34 40 50 60 85
C5' e 50 80 110 130 180
ce* 8 4 5 9 6
c7* 60 90 115 142 190
cs' 19 17 195 225 29
c9* 82.5 99.5 1215 151 199.5
c10° 13.5 10.75 13 15 20.75
0D 66x2 90x3 110%x3 145%3 200x5

*HDO060 5,10 JEER IR HC3< 16T ik,




R~ (% 4%, miEkL i=20~100)
DIMENSIONS (DOUBLE, REDUCTION RATIO i=20~100)

B R <TE& Dimensional Drawing

B R~J%& Dimensional Table [B{7Unit: mm]

RSize HDO064 HD090 HD110 HD140 HD200
D1w 20 315 40 50 80
D2 315 50 63 80 125
D3w 40 63 80 100 160
D4 w 64 90 110 140 200
D5 79 109 135 168 233
D6 7xM5x0.8P 7xM6x1P 1M xM6x1P 11xM8x1.25P 11xM10x1.5P
D7 86 118 145 179 247
D8 w 5 6 6 8 10
D9 455 53.4 77 102 125
D10 8x4.5 8x5.5 8x5.5 12x6.6 12x9
DIlw 70 95 120 152 212
D12 63.2 89.2 109.2 139.2 199.2
L1 8 12 12 12 16
L2 8 135 135 17 225
L3 3 6 6 6 8
L4 19.5 30 29 38 50
L5 7 10 10 14.6 15
L6 4 7 8 10 12
L7 7.7 8 10 12 15
L8 65 60 87.5 110 1325
L9 6 7 7 7 10
L10 05 1 1 1 1
c1° 46 70 100 130 165
c2° M4 x0.7P M5 x0.8P M6x 1P M8x1.25P M10%1.5P
C3° *<11/<12 <14/<15.875/<16 <19/<24 <32 <38
c# 30 34 40 50 60
C5° e 30 50 80 110 130
C6° 35 8 4 5 6
c7° 48 60 90 115 142
cg’ 195 19 17 19.5 225
co’ 108 134 160 204 248
c10° 13.25 135 10.75 13 15
0D 66%2 90%3 110x3 145x3 200%5

*HDO060 5,10 JEER IR HC3< 167 ik,



R~ (Ba4%, miEEL i=16. 21. 31, 61, 91)

DIMENSIONS (SINGLE SEGMENT, REDUCTION RATIO i=186, 21, 31, 61, 91)

B R <FE& Dimensional Drawing

B R~J%& Dimensional Table [B{7Unit: mm]

RSize HDO064 HD090 HD110 HD140 HD200
D1w 20 315 40 50 80
D2 315 50 63 80 125
D3w 40 63 80 100 160
D4 w 64 90 110 140 200
D5 79 109 135 168 233
D6 7xM5x0.8P 7xM6x1P 11 xM6x1P 11xM8x1.25P 11xM10x1.5P
D7 86 118 145 179 247
D8 5 6 6 8 10
D9 455 55 77 90 113
D10 8x4.5 8x5.5 8x5.5 12x6.6 12x9
DIlw 70 95 120 152 212
D18 63.2 89.2 109.2 139.2 199.2
L1 8 12 12 12 16
L2 8 135 135 17 225
L3 3 6 6 6 8
L4 19.5 30 29 38 50
L5 7 10 10 14.6 15
L6 4 7 8 10 12
L7 7.7 8 10 12 15
L8 285 32 37 122 79.5
L9 6 7 7 7 10
L10 05 1 1 1 1
Cc1° 46 70 100 130 165
c2° M4x0.7P M5 x0.8P M6x 1P M8x1.25P M10%1.5P
Cc3° *<11/<12 <14/<15.875/<16 <19/<24 <32 <38
c4 30 34 40 50 60
C5° e 30 50 80 110 130
C6° 35 8 4 5 9
c7° 48 60 90 115 142
cg’ 19.5 19 17 19.5 225
co’ 106 130.5 149 205 2475
c10° 13.25 135 10.75 13 15
0D 66%2 90%3 110x3 145x3 200%5

*HDO060 5,10 JEER IR HC3< 167 ik,




<
o
3
o
Py
>
|
(@)
I
Zz
(0)
—
>
oy)
=
m

AR RMR TR
SERVO MOTOR CORRESPONDING SIZE TABLE

W RE SR\ I% Gearbox Input

PEGT
PDG7

E}

BN E=5ERBHNIIRR T3 Input Flange And Servo Motor Matching Table

FEALINER AR e i LEelh BHE B 1EC LEMRE LI
Motor Power i Installation Distance| Threaded Hole Frame Aperture Stop Stop Depth Shaft Extension

(W) Motor Size A 5 = 5 = = I

T 45 M3 38 8 30 3 25

T2 46 M4 40 6 30 3 25

%0 T3 47 M4 40 8 30 3 25

T4 48 M3 42 8 30 3 25

T 45 M3 38 8 30 3 25

. T2 46 M4 40 8 30 3 25

T3 46 M4 40 8 30 3 25

T4 48 M3 42 8 30 3 25

T 70 M4 60 " 50 3 30

200 T2 70 M5 60 14 50 3 30

T3 70 M5 60 14 50 3 30

T 70 M4 60 14 50 3 30

400 T2 70 M5 60 14 50 3 30

T3 70 M5 60 14 50 3 30

T 90 M5 80 19 70 3 35

T2 90 M6 80 16 70 3 40

750 T3 90 M6 80 19 70 3 40
T4 100 M6 86 16 80 3 35

T5 145 M8 130 19 110 6 58

T6 100 M6 86 19 80 3 40

T 100 M6 90 19 80 3 55

T2 115 M6 100 24 95 3 45

T3 115 M8 100 24 95 5 45

1000 T4 145 M8 130 22 110 6 58
T5 145 M8 130 22 110 6 70

T6 115 M8 100 22 95 5 45

T7 145 M8 130 24 110 3 55

T 115 M8 100 19 95 3 55

T2 115 M6 100 24 95 3 45

T3 115 M8 100 24 95 3 45

1500 T4 145 M8 130 22 110 6 58
T5 145 M8 130 22 110 6 70

T6 115 M8 100 22 95 5 45

T7 145 M8 130 24 110 3 55




AR R TR
SERVO MOTOR CORRESPONDING SIZE TABLE

Wi\ iE=5EREBHITR R T ZE Input Flange And Servo Motor Matching Table

EEALINR e itz) 12477, DHE R 1EC LEMRE L
Motor Power ﬁ’tﬂ’ﬁsj Installation Distance| Threaded Hole Frame Aperture Stop Stop Depth Shaft Extension
otor >i1ze
W) A B c D E F |
m 115 M8 100 19 95 3 55
12 115 M6 100 24 95 3 45
3 115 M8 100 24 95 3 45
2000
T4 145 M8 130 22 110 6 58
5 200 M12 130 35 114.3 10 80
6 115 M8 100 22 95 5 45
T 115 M8 100 19 95 3 55
2500
T2 115 M6 100 24 95 3 45
m 130 M8 120 22 110 3 55
T2 145 M8 130 28 110 6 65
3000 T4 145 M8 130 24 110 6 65 =
5 200 M12 175 35 1143 10 80 o)
17 200 M12 175 35 114.3 10 65 6|
T 130 M8 120 22 110 3 55 )
3500 T2 145 M8 130 28 110 3 63 =
15 200 M12 175 35 114.3 10 80 Zf'
T 145 M8 130 24 110 6 65 @)
2 145 M8 130 28 110 6 65 XL
4000 =
5 200 M12 175 35 114.3 10 80 o
6 200 M12 175 42 114.3 10 113 -
T 145 M8 130 2 110 6 65 :5
5 200 M12 175 35 114.3 10 80 —
4500 m
6 200 M12 175 42 114.3 10 113
7 200 M12 175 35 1143 10 65
T 145 M8 130 24 110 6 65
2 145 M8 130 28 110 6 65
5000
5 200 M12 175 35 114.3 10 80
7 200 M12 175 35 114.3 10 65

ENREHEEIRI TR |, REmHEN DR B FEINT 5.

If an oil-seal is not present and the size is different, attachment of the oil-seal may correspond to special order, in some cases.
7E2) SRR, R ANT R,

If the motor shaft is of D-cut and taper type, it corresponds to a special order.

EEIMEEERBINT R, SFFS | BRINSARERER.

Out-of-standard may correspond to a special order in some cases, For details, contact us.



E7g
ASSEMBLY

B 235X R95 8 Assembly Procedure

BEFBETREARDIAN , BRUTEUHTRE. ARDEORISHESHE | IREENRI, , BLDATRSTREEE= , B, —EEEA%
1T ERAHEERISIA,

If a customer personally assembles the servo motor and reducer please use the following tip. The reducer flange to which the servo motor is attached has different dimensions
based on the motor specified .Therefore,assembly may be impossible for some motor.Make sure the correct motor is specified before ordering the reducer.

1. REFTEDIX Spec. In Case Of Assembling A Motor Without Key b ZB/ZE§§U7T‘§_ )
ZB/ZE Series Schematic Diagram

OITEZEIZE] |, BN, EZeS AT TRFALS. FRAREERENTT.
Take off the rubber cap, turn the input shaft, and match the head of the bolt to the hole of the rubber
cap. Make sure that the set bolt is loosened.

QBRI NS I (ERAAZIEEIWAAEN ) . BROITEAELDIX
REHEN.

Gradually put the motor shaft into the input shaft (Ensure that it is smoothly put in without iam.) Be
careful not to be inserted with the motor tilted.

OBDIXEFERENL , FHRISEIHERIZITE. (BEX)

Attach the motor to the reducer and fasten the bolt with designated fastening torque. (See table 1)

> GEFRIERFETIR | KSENHESMATNEEZTR. (55X =§
®) Fasten the set bolt of the input shaft with designated fastening torque wrench, etc. (See table 2) ® @
o8 OfF LRTEIRE], RETIETR, o ]
=z Puton a rubber cap. It is the end of assembling. !
W i p— o —
: — I
I
| ! ®
® 31 Tablel —t .
1 Table ={
£ Fastening T
OAEELE4HE Motor Combination Bolt F 2R AR Fastening Torque
(N-m) (kgf-cm)
M3 1.0 10 —_i
M4 3.0 30
M5 5.8 60 i —
—
M6 9.8 100
V8 19.6 200 ¥ — VB
M10 39.2 400 S
M12 68.6 700
M16 168 1650

® 382 Table2
EE1242 Combination Bolt F7RHHSS Fastening Torgue
(N-m) (kgf-cm)

M3 15 15
M4 3.5 35
M5 71 I
M6 12 120
M8 30 300
M10 60 612

HRIEXNDENRE TG , IR EIRTR DX %R, BHELRBH.

You can assemble the motor with keyway like above when take off the key. There is no risk of dislocation.



=
3R
ASSEMBLY
W REL B3 Peducer Assembly
RN RERE L, BEWARKEHEELERSRE | ERHEERFSTERSENHERBREHEERE. (835X

Jointing with reducerln case of jointing a reducer with the device, make sure that the combining side is plane without inconsistency, and when assemble reducer outo
equipment, ensuring assembly surface smooth and without burr. (See table 3)

® 383 Table 3
TREEEEZE4E Reducer Combination Bolt £ 3R {HAE Fastening Torque
(N-m) (kgf-cm)

M5 5.80 60
M6 9.80 100
M8 19.6 200
M10 39.2 400
M12 68.6 700
M16 16.8 1650

I 3546 Hi%h Connection To The Output Shaft

7EREEIN Cautions:

1, i EREAESER. BREN , B2ER N EEINE KRR G,

When assemble a coupling, pulley, etc. onto the output shaft,make sure that excessive axial
load not be given to the output shaft.

TBDERRIEEIN | DA EHRS R AR 2. H c
In case of strongly hitting the shaft with a hammer, the shaft inlet or the inside of the reducer ‘
may be damaged, therefore it shall be prohibited.

AT19N3SSY

N
;

3. RENBORSENMAIRENTRANS , TSRS RE  RENERSD =

EI=W _‘J i

If the shaft or key of a coupling assembled is loosed, it may cause carbonization, so be careful —_! —————— |

when assembling. =0 = P21
4, REIBOIREN | BEAEERERISEEEE. -

For assembling of a coupling, fix the key with a set bolt.
BB DR,

Please adjust shaft centre carefully in connecting.

o1
;



iz {000 A0 Y 32 1) 2

PLANETARY GEAR BOX

P22



NJ01VLVI

PLANETARY GEAR BOX AC & DC RIGHT
HenaRan ANGLE GEAR MOTOR

. BREAWREBININ

<D MATIE <0 MATIE

TRANSMISSION PLANETARY

feEniT 2 RMEBIHL

<o MATIE

AC & DC GEAR MOTOR SMALL AC GEAR MOTOR
WEE. EREESIDN NIRRT R
<0 MATIE <0 MATIE

DC BRUSHLESS GEAR MOTOR

B TRIREE

<0 MATIE

www.zd-motor.com »)



< MATIR

PLANETARY GEAR BOX
CATALOGUE

FRPRDBEREENRBERLT
NINGBO ZHONGDA LEADER INTELLIGENT TRANSMISSION CO.,LTD.

ik AT EREESFTRARFT WA XHK—I%1855
Add : NO.185 1st Xinxing Road,New Industrial Zone, Cixi City, Zhejiang, China.

FRRACEEEENREERAE

ZHONGDA CHUANGYUAN PRECISE TRANSMISSION EQUIPMENT CO.,LTD.

ol NI EREDRMERKEREIR159S

Add : No.159 Jinci Road, Hangzhou Bay District, Cixi City, Zhejiang, China.

ERESES:

E3iE:. 86—574—63537377
fEE.; 86-574—63534879
E-mail: china@zd-motor.com

EfFESRS:

International trade department:

Tel: 86-574-63530538 Fax: 86-574-63534879
E-mail: manager@zd-motor.com

E-mail: trade@zd-motor.com

EZIFE, HiEE:

www.zd—motor.com

B RAREE R, BABTEN.

Any changes in product contents without notice.




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23

